Pb‘ﬂs’ 2023

hachwe 20

Mon - Warm MP T

W eds: Hio ]9(5 S}DMa Ex 185, lgg/ |94, |q'5} m«), [48} 2%, 2o, 2

Dynamics DF Unthoe  Cireular Mobon

Unforae cireunlr mobar is whee  an Objfd' moves WL conglont s peedh

n g circle . Apphjiﬁ e usual ek

namahie ) s, ' TR

linmahies awmualﬁ give ; 43’ f%?ﬂd
For wilore cirular Mohan He : — ) v

ocaly abov: .
% poinks th’a% AW C e
* s mﬁamu

Ts s called C.mh{Pein aclwabon, Then Newhns 2™ Lew imphes

I wiforne cireular Mok He et fore i raculaf&j inward. .

We  wn  comside”  an objecf mom'/lﬁ w o I«wm'wfﬂa_l crele such as on

a Mchonless table | Thea whon e alojgd* is vewed wlile 15 ab e L

, edge |
/ﬁ—-/ ad 3 2 Fi=May
- et 1 N T

I w “—’c—:

= (= Mar”‘l’;
7l

Quiy) 0% DeEMO - R




190 Merry-go-round dynamics

A 50kg child sits at the edge of a merry-go-round with radius 2.5m. The merry-go-round
rotates with frequency 15 revolutions per minute. (111F2023)

a) Determine the direction of the friction force on the child.

b) Determine the magnitude of the friction force on the child.
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197 Ball swinging in a vertical circle, 1

A 0.80 kg ball swings with in a vertical circle at the end of
a 0.50m long string. The speed of the ball at the highest

point in the circle is 3.0m/s. Determine the tension in
the string at this moment. (111F2023) <
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